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2000 S L|1 p7 3.732e+05+ 55635
1500 Ty
1000 \L‘m
- c !
500 P
obE o e e L ST
® 01 02 03 04 05 06 07 08 09 1

060: 000000000 (D000 =09MeV/ch, 0000 =16fm, 0000

=4000)
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| Energy (measured cluster) | hi_pt0
10 Entries 3610145
F Mean 0.309
140— RMS 0.2183
B %2 I ndf 1976 / 35
1201 po 2.242e+04 = 117
B p1 0.2624 + 0.0004
B p2 0.06281 = 0.00057
100 p3 11.32 £ 0.00
C p4 -2.053 + 0.008
80—
o R
60— R H‘Li
C Tl 1,
- R
20—
P ol P A I I VI IR I I P W wrrar
o 01 02 03 04 05 06 07 08 09 1

0 6l: 000DD00O0ODOODO (D000 =1.0MeV/ch, 0OOO =0fm, 0000

=000o)

| Energy (measured cluster) | hi_pt0
10" Entries 3610145
- Mean 0.309
140 RMS 0.2183
N 721 ndf 569.4 / 34
120 po 1.701e+04 + 152
C p1 0.2572+ 0.0003
- p2 0.03885 + 0.00053
100[— p3 7.095¢+04 + 314
C pd -2.099e+04 + 2707
8o p5 -1.378e+05 + 4611
: _,_.fr'_L‘-
60— SRS
C H“']L"\u
40— L"-x.,_'_h
20
ol T L e L L L S T
0 01 02 03 04 05 06 07 08 09 1

062 000000000 (DODOO =1.0MeV/ch,OODO =0fm, 0000

—2000)
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| Energy (measured cluster) | h1_pt0
T Entries 3610145
- Mean 0.309
140— RMS 0.2183
- %2 ndf 490.5/33
- po 1.544e+04 + 213
120 p1 0.2579 + 0.0004
C p2 0.03432 + 0.00064
100 p3 5.898e+04 + 1267
C p4 1.278Be+05+ 15373
a0 p5 -6.317e+05+ 50827
n - pé 4.922e+05+ 50944
B =N
60— Tl H_I
I \\\, LLL!':.|
40 T
20_— » \“
P ol I T /T S WU DI I I I PR B
0 01 02 03 04 05 06 07 08 09 1

063 000000000 (D000 =1.0MeV/ch, 0OOO =0fm, 0000

=3000)

| Energy (measured cluster) | hi_pt0
T Entries 3610145
- Mean 0.309
140— RMS 0.2183
- 72 ndf 248.6 / 32
C po 1.369e+04 + 203
120 p1 0.2524 + 0.0004
» p2 0.02921+ 0.00058
100— p3 1.048e+05+ 783
C p4 -6.778e+05 + 7711
80— p5 4.2e+06 £ 11202
C e pé -1.118e+07 + 35567
C S | P7 9.764e+06+ 67894
60— el
20_—
ol bk e b b e e L T
0 01 02 03 04 05 06 07 08 09 1

064 000000000 (DODOO =1.0MeV/ch,OODO =0fm, 0000

=4000)

61




| Energy (measured cluster) | hi_pt0
Entries 1183863
B Mean 0.2768
C RMS 0.1963
50000 — %2 I ndf 1685/ 35
C po 1.058¢+04 + 69
- p1 0.2643 + 0.0004
40000 — p2 0.06132+ 0.00070
C p3 10.4+ 0.0
C p4 -2.741+ 0.014
30000 —
C I
20000 LLL&LL
10000 N
ﬂ‘...Lq-r’.J.|....|...‘r~|u...|....|....|..........
o 01 02 03 04 05 06 07 08 09 1

0 65: 000000000 (D000 =1.0MeV/ch, 0OOO =8m, 0000

=000o)

| Energy (measured cluster) | hi_pt0
Entries 1183863
F Mean 0.2768
L RMS 0.1963
50000 — %2 I ndf 509.6/ 34
- p0 8347 £ 91.7
- p1 0.2576 + 0.0004
40000 — p2 0.03511+ 0.00057
r p3 2.641e+04 £ 178
- p4 -9451+ 1452.4
C ™y
- ""‘-'v:'\Jj LLL
20000 — T
- .
10000 — ) T
ol bt U L T
0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1

0 66: 0000000 0OD0O (DODOO =1.0MeV/ch,OODO =8m, 0000

—2000)
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| Energy (measured cluster) |

hi_ptd

Entries 1183863
B Mean 0.2768
C RMS 0.1963
50000 — 72 ndf 469.8 /33
- po 7827 + 120.1
» p1 0.2578 + 0.0004
40000 — p2 0.03213 + 0.00069
C p3 2.195e+04 + 701
- p4 4.531e+04 + 8398
30000 — pS -2.421e+05 £ 27703
- Iy p6 1.824e+05+ 27780
Y
— - L,
20000 — . ‘-E
C " T
10000 — s
ﬂ-...|...4-r....M..|....|....|....|..........
0 01 02 03 04 05 06 07 08 09 1

067 000000 DOODO (D000 =1.0MeV/ch, JOOO =8m, 0000

=3000)

| Energy (measured cluster) | hi_pt0
Entries 1183863
= Mean 0.2768
C RMS 0.1963
50000 |— 2 ndf 97.5132
C po 7198+ 95.7
- p1 0.2535 + 0.0004
40000 — p2 0.02807 £ 0.00045
- p3 4.01e+04 + 93
C pa .2.734e+05 + 584
r p5 1.664e+06 = 1505
30000~ a pé -4.409e+06 + 3545
C S | p7 3.834e+06+ 5579
20000— Ty
- My
- T,
10000 - _ .
ol bt e b b L L S T
o 01 02 03 04 05 06 07 08 08 1

0 68: J000O0O0O0OODO (DODOO =1.0MeV/ch,OODO =8m, 0000

=4000)
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| Energy (measured cluster) | h1_pt0
Entries 953405
E Mean 0.2671
45000 RMS 0.1905
= %21 ndf 219235
40000 po 1.012e+04 = 64
= p1 0.2629 + 0.0004
35000 p2 0.05423 + 0.00058
= p3 10.23+ 0.00
30000 p4 -2.946 + 0.014
25000 — ’_|—"“|_|
20000F-| S T LI_LLLL
15000 =
10000 ILLLLLLK
5000 £
ﬂ:...|J.r'.’.|....|..\.‘~.-1....|....|....|........
o 01 02 03 04 05 06 07 08 09 1

069: 000000000 (0000 =1.0MeV/ch, 01000 =16fm, 0000
=000o)

| Energy (measured cluster) | hi_pt0
Entries 953405
F Mean 0.2671
45000 - RMS 0.1905
g %21 ndf 658.6 / 34
40000 — po 8634 + 85.8
= p1 0.2563 = 0.0003
35000 p2 0.03294 = 0.00047
= p3 2.14e+04 £ 154
30000F pa -8158 = 1226.1
25000 — =~ p5 -5.03e+04 = 2029
-y r
20000 — S N
15000 —
10000 ) ““IL,LLLR
5000
ob et e L L L T
® 01 02 03 04 05 06 07 08 09 1

0 70: 000000000 (0000 =1.0MeV/ch, 0000 = 16fm, 0000
—2000)
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| Energy (measured cluster) | h1_pt0
Entries 953405
E Mean 0.2671
45000 = RMS 0.1905
= %21 ndf 641.3/33
40000 = po 8352 + 107.5
E p1 0.2563 = 0.0003
35000 p2 0.03128 + 0.00058
= p3 1.88e+04 + 617
30000 p4 2.372e+04 + 7388
= pP5 -1.564e+05 £ 24355
25000 - iy pé 1.065e+05+ 24374
il L
20000 1_.-|J L
15000 iLLLLH
10000 “LLLLLLL
5000~ PN
bl b e L L L LT e
0 0. 03 04 05 06 07 08 09 1

07: 000000000 (D000 =1.0MeV/ch,DDODODO =16fm, 0000

=3000)

| Energy (measured cluster) | hi_pt0
Entries 953405
- Mean 0.2671
45000 RMS 0.1905
& %2 i ndf 186.8 / 32
40000 = p0 7824 + 107.6
E p1 0.2517 £ 0.0003
35000 — p2 0.02756 + 0.00051
E p3 4.118e+04 = 388
30000 — p4 -3.621e+05+ 3778
= - pP5 2.11e+06 £ 5621
25000 J;r L pé -5.281e+06 = 16562
= 7
20000 M 11 P 4.456e+06 + 32102
15000 Ty
-y Y
— =%
= 1
10000 = R .
5000 —
ﬂ:...|...,-r'....‘m...|....|....|....|........
o 01 02 03 04 05 06 07 08 09 1

072000000000 (D000 =1.0MeV/ch,DODOO =16fm, 0000

=4000)
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| Energy (measured cluster) | hi_pt0
VT Entries 3720160
r Mean 0.2209
r RMS 0.2275
160
- %2 I ndf 1367 /35
140 po 1.956e+04 + 107
E p1 0.2841+ 0.0004
120F- p2 0.06191= 0.00057
: p3 11.22+0.00
100 p4 -1.739+ 0.008
80—
60— ‘“T'_”HFHLLH.._‘
20—
1 o R S I DU B I DU A s
o 01 02 03 04 05 06 07 08 09 1

0 73: 000000000 (D000 =1.1MeV/ch, 0OOO =0fm, 0000

=000o)

| Energy (measured cluster) | hi_pt0
10" Entries 3720160
F Mean 0.3209
- RMS 0.2275
1801 2 1 ndf 355.3 134
w0k po 1.394e+04 £ 157
= p1 0.2797 + 0.0004
120F- p2 0.03645 = 0.00059
- p3 6.05e+04 £ 360
= p4 2.729¢+04 + 3128
1001 p5 -1.826e+05 = 5227
so—
60— e
- i
40—
20— B
ﬂ:. A I s I SV P N B B P B e
o 01 02 03 04 05 06 07 08 09 1

074 000000000 (D000 =1.1MeV/ch,OODO =0fm, 0000

—2000)
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| Energy (measured cluster) |

hi_ptd

10" Entries 3720160
C Mean 0.3209
- RMS 0.2275
1601 2 1 ndf 349.3 /33
1aoF- po 1.417e+04 = 186
= p 0.2793 = 0.0004
o p2 0.03712+ 0.00067
120 p3 6.285e+04 + 1044
C p4 1133 £ 12255.8
100— p5 -8.772e+04 + 39768
- pé -9.606e+04 = 39751
80—
60— et
20— B
ﬂ:. A T I S s SV NP T RPN B TP R
o 01 02 03 04 05 07 08 09 1

O 7: 000000000 (D000 =1.1MeV/ch, OO0 =0fm, 0000

=3000)

| Energy (measured cluster) | hi_pt0
10 Entries 3720160
F Mean 0.3209
- RMS 0.2275
1801 721 ndf 126.8 / 32
- po 1.138e+04 + 148
1401 p1 0.2765 = 0.0004
C p2 0.02933 £ 0.00048
120— p3 9.18e+04 = 158
o pd -5.451e+05+ 1081
100 — p5 3.362e+06 = 2797
- pé -8.6852+06 + 6703
80— p7 7.292e+06 = 10663
r T
60— ——
C T,
40— Rt
[ Ty
20—
) il A PO IS SN [ RPN IVANIPIFSS IVENUPITS INIAPIT IS AT B
0 01 02 03 04 05 07 08 09 1

0 7: 000000000 (D000 =1.1MeV/ch,OODO =0fm, 0000

=4000)

67




| Energy (measured cluster) | h1_pto
Entries 1222651
- Mean 0.2894
60000 — RMS 0.2069
N %2 I ndf 971.2/35
B po 9265 + 65.6
50000 — p1 0.2859 + 0.0004
C p2 0.05618 = 0.00063
o p3 10.29 + 0.00
40000 — p4 -2.253+ 0.013
30000
20000 “*h"rH L'HL
10000 — e
ob ke L L T
0 0.1 0.3 04 05 06 07 08 09 1

07000000000 (D000 =1.1MeV/ch,JOOO =8m, 0000

=000o)

| Energy (measured cluster) | hi_pt0
Entries 1222651
- Mean 0.2804
60000 — RMS 0.2069
N %21 ndf 334.7 / 34
- po 7192+ 93.2
50000 — p1 0.2811+ 0.0004
C p2 0.03541= 0.00066
C p3 2.278e+04 £ 209
40000 — pd 4744+ 1782.3
- p5 -6.74e+04 + 2953
30000
C R
o "“"T-r I-LLL.
20000 —
C ey
10000 — N
) i T PN I N I CPUPIN VIS AP AVIVErIN AP WP s
0 01 02 03 04 05 06 07 08 09 1

078 000000000 (D000 =1.1MeV/ch,OODO =8m, 0000

—2000)
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| Energy (measured cluster) | h1_pt0
Entries 1222651
- Mean 0.2894
60000 — RMS 0.2069
C 22 ndf 263.2 /33
. po 7670+ 116.4
50000 — p1 0.2796 = 0.0005
C p2 0.03808 + 0.00079
- p3 2.769e+04 = 638
40000 p4 -5.423e+04 + 7433
o P5 1.283e+05+ 23729
C pé -1.97e+05+ 23295
30000
n L .JJJI‘ -LI_L
20000 ek
C T,
10000 — )
obl e e L T
o 01 02 03 04 05 06 07 08 09 1

0 7: 000000000 (D000 =1.1MeV/ch, OO0 =8m, 0000

=3000)

| Energy (measured cluster) | hi_pt0
Entries 1222651
- Mean 0.2894
C RMS 0.2069
60000 - 72 ndf 61.68 /32
- po 6100 + 90.8
50000 |— p1 0.2766 = 0.0005
C p2 0.02934 + 0.00054
- p3 4.357e+04 + 93
40000 — p4 -3.536e+05 + 618
- p5 2.034e+06 £ 1582
C pé -4.944e+06 + 3752
30000 — P7 4.028e+06 + 5973
C T
r r by
20000 el
— - 'I:.-_
C s
10000 — e
bl L b e L L T
0 01 02 03 04 05 06 07 08 09 1

0 80: J0DO0ODUOOOD (DODDO =1.1MeV/ch,OODO =8m, 0000

=4000)
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| Energy (measured cluster) | h1_pto
Entries 98821
- Mean 0.2783
C RMS 0.2011
5000 — x2 I ndf 178.1/35
C po 871.4+ 196
B p1 0.2836 = 0.0013
4000 p2 0.05228 + 0.00184
- p3 7.823 £ 0.014
C pd -2.462 = 0.046
3000
ot N
1000— HrL
obl b L e L T
0 01 02 03 04 05 06 07 08 09 1

081: 000000000 (0000 =1.1MeV/ch, 1000 = 16fm, 1000
=000o)

| Energy (measured cluster) | hi_pt0
Entries 28821
- Mean 0.2783
C RMS 0.2011
5000 |— %2 I ndf 1005/ 34
C p0 728.8+27.7
: pi 0.2773+ 0.0013
4000 — p2 0.03156 + 0.00181
C p3 1862 £ 55.3
- p4 471+ 458.8
3000 p5 -5975 + 757.5
Z =
2000— Ik
C Bt SN
1000— ’L‘L’”Lk
ol it bt L b e L T T
0 01 02 03 04 05 06 07 08 09 1

082: 000000000 (0000 =1.1MeV/ch, 0000 = 16fm, 0000
—2000)
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| Energy (measured cluster) |

hi_ptd

Entries 98821
- Mean 0.2783
C RMS 0.2011
5000 — 721 ndf 93.57 /33
C po 764.9 = 30.7
C p1 0.2766 = 0.0012
4000— p2 0.03395 + 0.00221
B p3 2284 + 173.9
- p4 -4569 + 2013.6
3000 p5 1.075e+04 = 6464
L p6 -1.685e+04 + 6387
zoou: 7
— pul
1000—
ﬂ‘...|....|—’.'...|:‘.-q.|....|....|....|.......
0 01 02 03 04 05 06 07 08 09 1

083: 000000000 (D0DODO =1.1MeV/ch,DDODODO =16fm, 0000

=3000)

| Energy (measured cluster) | hi_pt0
Entries 98821
- Mean 0.2783
n RMS 0.2011
5000 %2 I ndf 35.22/32
n po 621.7+28.4
- p1 0.2723 + 0.0012
4000 — p2 0.02463 £ 0.00129
- p3 4462 + 26.1
C p; -4.439e+04 + 171
- P 2.574e+05+ 440
3000— pé -6.23e+05+ 1041
B P7 5.113e+05 = 1646
— J—hL
2000 o
: el by
C o,
C .,
1000 — I,
ol L e e L L T T
0 01 02 02 04 05 06 07 08 09 1

08: 000000000 (D000 =1.1MeV/ch,0ODODO =16fm, 0000

=4000)
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| Energy (measured cluster) | h1_pto
~<10° Entries 3840558
200 Mean 0.3295
= RMS 0.2354
180 %2 I ndf 879.6/35
o po 1.700e+04 + 105
160— p1 0.305 + 0.000
= p2 0.05927 + 0.00060
140 p3 11.14 0.00
120 pd -1.467 = 0.008
100
Bo—
60— e
40 eI
20— R
P = I Y T L SO I I I R e
0 01 02 03 04 05 06 07 08 09 1

0 8: 000D000D00ODO (D000 =12MeV/ch, 0000 =0fm, 0000

=000o)

| Energy (measured cluster) | hi_pt0
~10° Entries 3849558
F Mean 0.3295
200
C RMS 0.2354
180— %2 I ndf 369.9/34
= p0 1.238e+04 + 165
160— p1 0.3035 + 0.0004
C p2 0.03812+ 0.00070
140 :_ p3 5.085e+04 £ 429
120 p4 3.005e+04 £ 3708
- pS -1.573e+05 + 6066
100—
Bo—
60— S L ¥
a0F- e
20— 3
oble o e e e e e L L T
0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1

0 8: J0DO0OD0O0O0O0OD (D000 =12MeV/ch,OODO =0fm, 0000

—2000)
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| Energy (measured cluster) | h1_pt0
T Entries 3849558
F Mean 0.3295
200
= RMS 0.2354
180 %2 ndf 237.5/33
E po 1.252e+04 + 165
160 pi 0.3007 = 0.0005
= p2 0.03793 £ 0.00069
140/~ p3 6.376e+04 + 827
120F- pd -6.808e+04 + 9505
= p5 1.967e+05= 31792
100 p6 -3.864e+05 + 33638
Bo—
60— S
a0 T
20— 3
obel il e L e L e L L T
0 01 02 03 04 05 06 07 08 09 1

08 000000000 (D000 =12MeV/ch, 0000 =0fm, 0000

=3000)

| Energy (measured cluster) | hi_pt0
T Entries 3849558
= Mean 0.3295
zoo: RMS 0.2354
180 721 ndf 123.2/32
E po 9739 + 251.9
160— p1 0.2999 + 0.0005
= pz 0.03032 = 0.00079
140— p3 9.273e+04 + 2505
E p4 -5.978e+05 + 43792
1201 p5 3.451¢+06 = 261544
100 pé -8.26e+06 + 626195
C p7 6.52e+06 + 518085
80—
60— SN
= T
40— e —
20—
P =P P Y BV IO I P I I I B
0 01 02 03 04 05 06 07 08 09 1

08: J000D0O0O0OODO (DODDO =12MeV/ch,OODOO =0fm, 0000

=4000)
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| Energy (measured cluster) | hi_pt0
Entries 1265343
F Mean 0.2988
= RMS 0.2164
70000 %2 I ndf 693.8 /35
E po 7925+ 64.9
60000 p1 0.3074 = 0.0005
C p2 0.05283+ 0.00068
50000 — p3 10.2£0.0
- p4 -1.862+ 0.014
40000 —
30000 —
- . e
20000 et Ty
10000
ob L b e L T
0 01 02 03 04 05 06 07 08 09 1

089: 000000000 (D000 =12MeV/ch, 0000 = 8m, 0000
=000o)

| Energy (measured cluster) | hi_pt0
Entries 1265343
F Mean 0.2988
E RMS 0.2164
70000 %21 ndf 433.7 134
- po 6355 = 96.5
60000 — p1 0.3048 = 0.0005
- p2 0.03669 = 0.00081
50000 — p3 2.138e+04 + 252
= pd 3232+ 2142.1
- 5
40000 P -5.232e+04 = 3480
30000 —
20000 el T
10000
ol b e el e L L T
° 01 02 03 04 05 06 07 08 09 1

0 9: 000000000 (0000 =1.2MeV/ch, 1000 = 8m, 0000
—2000)
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| Energy (measured cluster) | h1_pt0
Entries 1265343
F Mean 0.2988
= RMS 0.2164
70000 — 2 ndf 153.5/ 33
E po 6497 £ 96.3
50000 pi 0.3003  0.0005
o p2 0.03507 + 0.00074
50000 — p3 2.809e+04 + 483
= pd -7.946e+04 + 5523
c p5 2.453e+05 = 18433
40000 — pé -3.242e+05 = 19410
30000
20000 —— o
= e
L e
- o S
10000 —
o P T T E o EP PP EP P IR E AN e e
0 01 02 03 04 05 06 07 08 09 1

09l: 000000000 (D000 =12MeV/ch, 0000 =8m, 0000

=3000)

| Energy (measured cluster) | hi_pt0
Entries 1265343
F Mean 0.2988
E RMS 0.2164
700001 %21 ndf 69.31/32
E po 5259 + 138.7
60000 — p1 0.2993 + 0.0006
- p2 0.02931+ 0.00084
= p4 -3.364e+05 + 25564
C p5 1.813e+06 = 151490
40000 — pé -4.102e+06 + 360667
E P7 3.122¢+06 + 207194
30000 —
I S i
20000 - et
= T
10000 — -
) i A P S P AP AP AT AP P s e
0 01 02 03 04 05 06 07 08 09 1

092 000000000 (D000 =12MeV/ch,OODO =8m, 0000

=4000)
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| Energy (measured cluster) | hi_pt0
Entries 103480
F Mean 0.2841
§000— RMS 0.2107
c %2 I ndf 85.03/35
7000 — po 816.9+ 19.6
E p1 0.3042 + 0.0012
6000 p2 0.04753+ 0.00157
c p3 7.684 £ 0.013
5000 p4 -1.913+ 0.045
4000
3000 —
2000 g
1000 T
P A P PO S PRI AP PP Ot i
0 01 02 03 04 05 06 07 08 039 1

093 000000000 (0000 =1.2MeV/ch, 1000 = 16fm, 1000
=000o)

| Energy (measured cluster) | hi_pt0
Entries 103480
F Mean 0.2841
8000 — RMS 0.2107
= %21 ndf 76.33/34
7000 — po 730.9£29.4
c pi 0.3028 + 0.0013
6000 p2 0.04002 £ 0.00230
= p3 1851£ 78.6
5000 — p4 ~1054 £ 685.1
- p5 -2135 + 1116.6
4000—
3000
2000 i
= ! ﬂ,__ﬂ_.-vf LH]_R‘H
1000 — .
ﬂ:||||m
0 01 02 03 04 05 06 07 08 09 1

094 000000000 (0000 =12MeV/ch, 0000 = 16fm, 0000
—2000)
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| Energy (measured cluster) | h1_pt0
Entries 103480
E Mean 0.2841
§000— RMS 0.2107
= %2 I ndf 40.03 /33
7000 — po 753.8+29.4
c p1 0.2981: 0.0014
6000— p2 0.0397 = 0.0021
- p3 2578 + 148.0
5000 — pa -9999 + 1694.0
= p5 2.981e+04 + 5564
s000F- p6 -3.454e+04 + 5769
3000
2000 ;— _ ’"”JJFJLLL‘H,
1000 e
ﬂ:||||m
0 01 02 03 04 05 06 07 08 09 1

09%: 000000000 (D000 =12MeV/ch, 0000 =16fm, 0000

=3000)

| Energy (measured cluster) | hi_pt0
Entries 103480
F Mean 0.2841
8000 — RMS 0.2107
F %2 I ndf 23.32132
7000 — p0 565.3+ 25.5
C p1 0.2965 + 0.0014
6000 :— p2 0.03033 £ 0.00164
- p3 4442 + 26.8
5000 — p4 -4.436e+04 = 181
E pP5 2.425¢+05+ 464
F [+1] -5.514e+05+ 1093
4000 p7 4.289e+05+ 1794
3000
— P
2000 T
= T,
1000 — el
ﬂ—||r||m
0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1

09: 000000000 (D000 =12MeV/ch, 0000 =16fm, 0000

=4000)
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5.2.2 0000

ggobobbobbbodoogoooobbbboooouoboboobbooad
gogbbbuogoobbbuoooobbbuooooboboboooon

00000 08MeV/chOODOOOOODODODOODOOOODODOOODOOOOOO
ggbbobuooobbbuooobbbboodbo

09 000gpboggbooogooououoono :O.8MeV/ChD
b=01m b=8fm b=16 fm

EE:):po

0.2156 GeV

0.2152 GeV

0.2140 GeV

Epoiz

0.2122 GeV

0.2132 GeV

0.2107 GeV

Epos

0.2096 GeV

0.2099 GeV

0.2073 GeV

EPol4

0.2106 GeV

0.2100 GeV

0.2073 GeV

O00000000000000000000000000O00O0O0 0.8MeV/ch
gobbobogobboboooobboogd

E"=% =0.2120 4 0.0023GeV (9)

E"=8 = 0.2121 £ 0.0023GeV (10)

E'=16 = 0.2098 + 0.0028GeV (11)

ggboouoogoon
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00000 09MeV/ch0 0000000000000 OOOODOOOOOODO

ggbobuoogoobbbooobobbbooodgno

010 0000000000000000000 = 0.9MeV/chO

b=01fm

b=81fm

b=16 fm

EE:rpo

0.2394 GeV

0.2407 GeV

0.2404 GeV

Epoi2

0.2346 GeV

0.2357 GeV

0.2352 GeV

EPol3

0.2338 GeV

0.2344 GeV

0.2339 GeV

EPol4

0.2319 GeV

0.2319 GeV

0.2308 GeV

0000000000000 0000o0o0o00000oooooon 0.9MeV/ch
gobbbooobobboooobbbooon

B0 = 0.2349 4 0.0028GeV (12)
E"=® = 0.2357 4 0.0032GeV (13)
E'=16 = 0.2351 + 0.0035GeV (14)

gogboboooooon
O0O00OD 1.0MeV/chODODOODOOODOOOOOO0DOOOOOODOOODODOO
gogbbobuoooobbboooobobboodono

011: 0000000000000000000 = 1.0MeV/chO
b=0fm b=8m b=16 fm

EEzpo

0.2624 GeV

0.2643 GeV

0.2629 GeV

EPOZ?

0.2572 GeV

0.2576 GeV

0.2563 GeV

EPOZB

0.2579 GeV

0.2578 GeV

0.2563 GeV

EPol4

0.2524 GeV

0.2535 GeV

0.2517 GeV
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000000000000 0000000O00O00O0O0DOOOOO 1.0MeV/ch
gbooobgobobobobobooboobod

E"=0 = 0.2575 4 0.0036GeV (15)
E"=% = 0.2583 4 0.0038GeV (16)
E'=16 = 0.2568 + 0.0040GeV (17)

ggboouoogooo
00000 1.1MeV/chOOOO0OO0OOOOOOODOOOOOOOOOOOOOO
ggbbobuooobbbuooobobbbooodgbo

O 12 0000000000000 000000d :1.1MeV/ChD
b=01m b=8fm b=16 fm

EE:Bpo

0.2841 GeV

0.2859 GeV

0.2836 GeV

Epoia

0.2797 GeV

0.2811 GeV

0.2774 GeV

Epois

0.2793 GeV

0.2796 GeV

0.2766 GeV

EPol4

0.2765 GeV

0.2766 GeV

0.2723 GeV

000000000000000000000000000000 1.1MeV/ch

gobbobogobobboooobboood

E"=" = 0.2799 4 0.0027GeV (18)
E"=% = 0.2808 4 0.0034CGeV (19)
E'=16 = 0.2775 £ 0.0040GeV (20)

gogboooooooo
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00000 1.2MeV/ch0 0000000000000 OOOOOOOOOODO

ggbobuoogoobbbooobobbbooodgno

013:0000000000000000000 = 1.2MeV/chO

b=01fm

b=81fm

b=16 fm

EE:rpo

0.3050 GeV

0.3074 GeV

0.3042 GeV

Epoi2

0.3035 GeV

0.3048 GeV

0.3028 GeV

EPol3

0.3007 GeV

0.3003 GeV

0.2981 GeV

EPol4

0.2999 GeV

0.2993 GeV

0.2965 GeV

0000000000000 000Doooo000oooooooon 1.2MeV/ch
gobbbooobobboooobbbooon

E"=° =0.3023 4 0.0021GeV (21)
E"=% = 0.3030 & 0.0033CGeV (22)
E'=16 = 0.3004 + 0.0032GeV (23)

gogboboooooon
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5.23 0O00OO0OO0OOOO0OOOO0OOO0ODOOODbODn

gogoboobbobbbodddooooooooooobbbooobbobooagad
goggobbbbbbbuodoooooooobbobobbbbobboodgd
goggoobbobbbbtbdoooooogoobboobobobobobbooagd
gogobobbbbbuodooogobbbbbuooooooobbobboago
goooo

gooooboob0omObO0OoOoOoOooOoooboobobobobobOoDbOoD
goood

‘ MIP peak value and Calibration contant (Impact parameter = 0 fm)

=
(5]

peack value [GeV]
(]
-]

MIP
=)
o i 8
o
N L O B

0.24

0.22

0.8 085 09 095 1 105 11 115 1.2
Calibration constant

O97. 00000000000 0DO0Db0bObO000oDOO0oDOobOD =01fm0O

gogobbbobbooooooobobbbboooooobbobboogo
gogbbbuoooobbboooooboboooobobobooo

E"% =0.2255 x C' +0.0318 (24)
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ooooooooOosfmidbOoOooboOoooooobooooboooboOooon
goooon

‘ MIP peak and Calibration constant (Impact parameter = 8 fm) |

=
ko
©

d peak value [GeV]

[N =

o (X
III|III|III|III|III|III

MIP

0.24

0.22

02 II|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|III
’ 0.8 085 09 095 1 105 11 115 1.2

Calibration constant

098 000000000 0obouobobobboooooooobOoD =81m0O
ggobbbbbboooooobbbbboooooobbbbbougo

gogbbobuogoobbboooobobobooogboogoo

E"=% =0.2271 x C + 0.0309 (25)
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OooooooooD lemdO00oDOOO0O0O0OODOOOO0OODOOOOOODDOO
goooon

‘ MIP peak value and Calibration contant (Impact parameter = 16 fm)

[GeV]

=
ko
©

ak value

pe

MIP
=
X
o

o
[
'

0.22

0-2 I|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|III

0.8 085 09 095 1 105 11 115 1.2
Calibration constant

09 00000000000 0bO0b0ob0o0oboooooDobDOon =16 fm0O

gogobbbbbboooooobbbbbuoooooobbbbbougo
gogbbobuogoobbboooobobobooogboogoo

E"=16 = (.2248 x C' + 0.0310 (26)
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5.3 UUOOOooobooobooood

gogobobbobbodoooooobboobbooooobobobbooagoo
0000000000000 0000000000D00O0ODOODODOO0OD [GeV]
ggooobod

5.3.1 0O00OOoooOo

ggobbobbougoooobbbobbboooooobobbobboogo
goodooooooobboboobbbodooooooobobobobbboboooga
ggbbobouooobobobooogn

0000 [MeV/ch] 0.8, 0.9, 1.0, 1.1, 1.2
0000 [fm] 16
000000000000 |0000,2000,3000,4000

gbobdgbuoggbbboogbobboobbbooobbuooobboo
goboodbbuooguoogbbumuogbbuooobobuoobooboboboo
gbobmoobooboobgooboboboobobobobobobobon
ooooogoos0no2sGevOOOnon
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| Invariant Mass at pT=(1,2)GeV/c | h1_m
Entries 5212
- Mean 0.1162
120~ It RMS 0.06462
C .‘ %2 ndf 123.7/75
- | po 90.85+ 8.16
1001~ ' p1 0.1094 + 0.0003
- - l p2 0.004114 + 0.000372
8ol i p3 3.838 £ 0.056
= J ' p4 -3.336 + 0.356
60 L
40
20

0 0.05 0.1 0.15 0.2 0.25

0 100: D000 00O0O0O00OD0DO (D000 =0.8MeV/ch, 0000 = 16fm, O
O00 =0000)

| Invariant Mass at pT=(1,2)GeV/c | h1_m
Entries 5212
C Mean 0.1162
120|— I RMS 0.06462
B ' w %2 1 ndf 117.6/74
C po 90.8+ 8.2
100— | p1 0.1084 + 0.0003
C p2 0.003998 + 0.000365
- p3 37.32+ 432
80— p4 1.372+ 61.172
- RS -318.7+ 197.0

60

40

20

5 L IIJ.OSI L .0.1. . .0.15. L .0.2. L .0.25

0 101: 000000000000 (D000 =0.8MeV/ch, 0000 = 16fm, O
000 =2000)
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| Invariant Mass at pT=(1,2)GeV/c | h1_m
Entries 5212
_ Mean 0.1162
120 It RMS 0.06462
- [ 721 ndf 11437173
C } p0 90.47 £ 8.21
100— : p1 0.1094 = 0.0003
C p2 0.003819 + 0.000354
- p3 16.91+12.10
80— p4 505 + 286.8
- J; i p5 -3933 + 2009.7
C ! pé 7815+ 4324.5
60 o
40
20
% 0.05 0.1 0.15 0.2 0.25

0 102: 000000000000 (D000 =0.8MeV/ch, 0000 = 16fm, O
OO0 =3000)

| Invariant Mass at pT=(1,2)GeV/c | h1_m
Entries 5212
: Mean 0.1162
120~ RMS 0.06462
- A %21 ndf 1126772
C po 90.33+ 8.18
100|— , p1 0.1085 = 0.0003
C | p2 0.003763 + 0.000332
C B p3 19.73+2.69
80— L p4 1727 + 35.6
- v p5 -1.776e+04 = 194
B i p6 7.203e+04 + 935
60 = -1.05e+05+ 2915
40
20 - HLFLFLL[IIFJ_
% T T 02s

0 103: 000000000000 (D000 =0.8MeV/ch, 0000 = 16fm, O
000 =4000)
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| Invariant Mass at pT=(1,2)GeV/c | h1_m

Entries 6809

Mean 0.1147

120 RMS 0.06619

%2 I ndf 101775

po 73.51% 6.14

100 pi 0.124 + 0.000

p2 0.006123 £ 0.000522

p3 3.981+ 0.050

80 p4 .2.858+ 0.312

60

40

20

0 . . . . 0.25

0 104: 000000000000 (D000 =09MeV/ch, 0000 = 16fm, O
O00 =0000)

| Invariant Mass at pT=(1,2)GeV/c | h1_m

Entries 6809

Mean 0.1147

120 RMS 0.06619
%21 ndf 84.93/74

po 72.27 £ 6.30

100 p1 0.1239 + 0.0005
p2 0.005636 + 0.000495

p3 36.99 + 4.81

80 pd 126.6 + 70.5
p5 -760.9+ 229.5

60

40

20

u..........».............0.25

0 105: 000000000000 (D000 =09MeV/ch, 0000 = 16fm, O
000 =2000)
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| Invariant Mass at pT=(1,2)GeV/c | h1_m

Entries 6809
Mean 0.1147
120 RMS 0.06619
%21 ndf 8234173
po 71.32 + 6.41
100 p1 0.1239 = 0.0005
p2 0.005421+ 0.000497
p3 16.65 = 13.47
80 p4 629+ 318.6
o p5 -4336 = 2217.9

o -] + .
60 a P 7669 + 4747.1

20 Do ﬂlﬁ-ﬁﬂlH
0 PRI TR R N S T S
0 0.2 025

0 106: 000000000000 (D000 =09MeV/ch, 0000 = 16fm, O

OO0 =3000)

| Invariant Mass at pT=(1,2)GeV/c | h1_m
Entries 6809
C Mean 0.1147
120— RMS 0.06619
C %21 ndf 80.35/72
- g po 71.54 + 6.32
100 ! p1 0.124 + 0.000
| [ p2 0.005484 + 0.000477
[ ; p3 -22.86+ 2.95
80 p4 1975+ 40.3
J L| p5 -1.99¢+04 + 218
i pé 8.124e+04 £ 1047
60 fivl p7 -1.219e+05 £ 3255

40

20
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I
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s
R
h r-J4L
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0 0.05 0.1 0.15 0.2 0.25

0 107: 000000000000 (D000 =09MeV/ch, 0000 = 16fm, O
000 =4000)
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| Invariant Mass at pT=(1,2)GeV/c | h1_m
Entries 89506
1400— Mean 0.1165
B RMS 0.06756
C %2 I ndf 2125175
1200 po 906.6+ 22.3
n p1 0.1376 = 0.0001
1000t p2 0.005682 + 0.000140
- p3 6.548 + 0.013
C pd -2.597  0.086
800[
600
400 L1 dlm]‘l-L—_;Pqﬂ_dltﬂu{F
200 3—
ol L " R
0 0.1 0.15 0.2 0.25

0 108: O00000O0O0O000ODO (D000 =1.0MeV/ch,DOOO = 16fm, O

O00 =0000)

| Invariant Mass at pT=(1,2)GeV/c | h1_m
Entries 89506
Mean 0.1165
1400
RMS 0.06756
#2 1 ndf 153.8/74
1200 p0 894.9:22.6
p1 0.1376 = 0.0001
p2 0.005394 = 0.000137
1000 p3 5744+ 18.3
p4 267.1£271.2
800 p5 -5092 + 885.4

600

400

200

a—l—l—l—'—l—l—‘!lll!lll!lll!lll!llll

5 L ID.OSI L .0.1.L..u.15....u.2....u.25

0 109: 000000000000 (D000 =1.0MeV/ch,00O0O0O = 16fm, O
000 =2000)
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| Invariant Mass at pT=(1,2)GeV/c |

h1_m

Entries 89506
il Mean 0.1165
14001 RMS 0.06756
C %2 I ndf 97.62/73
1200 p0 8852228
C p1 0.1376 = 0.0001
1000 | p2 0.005228 + 0.000134
[ p3 24261478
N bl p4 8383 + 1114.3
soo] l p5 -6.278e+04 = 7738
- e pé 1.247e+05+ 16627
600 .
s i :I :I mh%
200 P
) A S R E U BSOS R | . [
0 0.05 0.1 0.15 0.2 0.25

0 110: O00000O0O0O000O0O (D000 =1.0MeV/ch,DOOO = 16fm, O

OO0 =3000)

| Invariant Mass at pT=(1,2)GeV/c | h1_m
Entries 89506
il Mean 0.1165
1400 - RMS 0.06756
- %2 I ndf 91.81/72
1200 p0 B890.3+225
C p1 0.1377 £ 0.0001
| p2 0.005305 = 0.000132
10001 p3 -18.11+ 10.98
- o pé 1.734e+04 + 151
800 ! '-I p5 -1.674e+05 + 820
r o [+1] 6.227e+05+ 3976
r . 7 i +05+
600 . P -8.289e+05+ 12374
400 P ilﬁ“ﬂﬂ‘ﬂn—- An
. %‘T’-—
200
ol v oo 1 1 ey s [
0 0.05 0.1 0.15 0.2 0.25

0 111: 000000000000 (D000 =1.0MeV/ch, 0000 = 16fm, O

000 =4000)
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| Invariant Mass at pT=(1,2)GeV/c |

180

160

140

120

100

80

60

40

20

0

0 112: 000000000000 (D000 =1.1MeV/ch,DOOO = 16fm, O

h1_m

Entries

—l—l—l—'—l—l—l—'—,lII!III!III!III!III!IIIlIII|I

Mean
RMS
%2 I ndf

11241

0.1171

0.06874

109 /75

83.61= 6.64

0.151= 0.001
0.007347 = 0.000654
4.357 £ 0.039

-2.227 + 0.248

0 0.05

O00 =0000)

| Invariant Mass at pT=(1,2)GeV/c |
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100

80

60
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0 113: 000000000000 (D000 =1.1MeV/ch, 0000 = 16fm, O

0.2 0.25

—I—l—l—'—l—l—l—l—,lII!III!III!III!III!IIIlIII!I

h1_m
Entries 11241
Mean 01171
RMS 0.06874
x2 I ndf 90.57 /74
p0 82.02+6.94
p1 0.1511= 0.0005
p2 0.006341+ 0.000599
p3 52.88 = 6.50
p4 247.9+98.6
RS -1250+ 321.9

0o 005

000 =2000)
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| Invariant Mass at pT=(1,2)GeV/c |

h1_m

Entries

180

160

140

120

100

80

60

40

20

Mean

11241

0.1171

0.06874
81.19/73
81.9=7.0

0.1513 = 0.0005
0.00628 = 0.00059
9.581+ 15.547
1319 = 362.9
-8986 = 2545.0
1.697e+04 = 5539

0 114: 000000000000 (D000 =1.1MeV/ch,DOOO = 16fm, O

OO0 =3000)

| Invariant Mass at pT=(1,2)GeV/c | h1_m
Entries 11241
il Mean 0.1171
180 C 0.06874
ul 81.19/72
150: 81.91£86.M
= 0.1513 £ 0.0005
C 0.00628 + 0.00058
12001 9.446 + 3.789
r 1323 £ 52.7
100F -9039 = 285.4
r 1.722e+04 = 1374
a0l -409.4 + 4338.5
60
4u — - ~-=
20
ol . Lo ot
0 0.1 0.15 0.2 0.25

0 115: 000000000000 (D000 =1.1MeV/ch, 0000 = 16fm, O

000 =4000)
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| Invariant Mass at pT=(1,2)GeV/c |

220
200
180
160
140
120
100

80

60

20
o]

r

)

h1_m
Entries 13213
Mean 0.1184
RMS 0.06983
%2 I ndf 97.61/75
p0 84.94 + 6.40
p1 0.1653 + 0.0006
p2 0.007312 + 0.000565
p3 4.565 £ 0.036
p|4 -2.404 + 0.236

]

KL o S

0 116: 000000000 00ODO (D000 =1.2MeV/ch, 0000 = 16fm, O

O00 =0000)

| Invariant Mass at pT=(1,2)GeV/c |

220
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100 r ]
80 . L
mﬂjiwu{'f--uﬁn |
60 Py
40 o
20 T
P - S R R L AT R
0 0.05 0.1 0.15 0.2

h1_m
Entries 13213
Mean 0.1184
RMS 0.06983
721 ndf 91.59/ 74
po 82.95 = 6.57
pi 0.1653 + 0.0006
p2 0.006875 = 0.000565
p3 79.68+7.33
fl pa 38.17 = 108.79
p5 -660 + 350.1

0117 000000000000 (D000 =1.2MeV/ch, 0000 = 16fm, O

000 =2000)
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| Invariant Mass at pT=(1,2)GeV/c |

h1_m

220
200
180
160
140
120
100
80
60
40
20
) S — TR T R T N

Entries 13213
Mean 0.1184
RMS 0.06983
721 ndf 90.54 / 73
po 83.43 £ 6.56
pl 0.1654 + 0.0006
p2 0.006964 + 0.000578
p3 64.04 + 16.94
p4 429.2 + 397.1
p5 -3544 + 2838.4
pé 6432 + 6283.6

0 118: 000000000000 (D000 =1.2MeV/ch, 0000 = 16fm, O

OO0 =3000)

| Invariant Mass at pT=(1,2)GeV/c |

220
200
180
160
140
120
100
80
60
40
20
). S T T S R S

h1 m
Entries 13213
Mean 0.1184
RMS 0.06983
721 ndf BB.7/72
po 84.97 + 6.41
p1 0.1653 + 0.0005
pz 0.007227 = 0.000578
p3 0.5824 + 4.2401
p4 2580 + 57.5
p5 -2.822e+04 + 314
pé 1.217e+05+ 1500
p7 -1.883e+05+ 4837

0119 000000000000 (D000 =1.2MeV/ch, 0000 = 16fm, O

000 =4000)
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5.3.2 0O0O0ODO

gogobobobbodoooooobobobbodooooobobooboboogd
gogbbbuooobbboooobbbuoooobo

00000 08MeV/chOODOOOOODODODOODOOOODODOOODOOOOOO
ggbbobuooogbbboooobobobn

b =16 fm

MEgapo | 0.10942 GeV
Mpyz | 0.10941 GeV
Mpysz | 0.10943 GeV
Mpys | 0.10946 GeV

0 14:000000000000000 = 0.8MeV/chO

O00000000000000000000000000O00O0O0 0.8MeV/ch
gogbooboogoboboooon

MP=1% = 0.10943 + 0.00002GeV (27)

ggboobouoogbooo
00000 09MeV/ch0 0000000000000 OODOOOOOOOOO
ggbbbooogbbbooooobbn

b= 16 fm

Mpapo | 0.12404 GeV
Mpy | 0.12392 GeV
Mpys | 0.12394 GeV
Mpos | 0.12402 GeV

0 15: 000000000000000 = 0.9MeV/chO

000000000000000000000000000000 0.9MeV/ch
ggbobuoggoboboooon

MP=1% = 0.12398 + 0.00005GeV (28)

gogboobouoooooo
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00000 1.0MeV/chOOOOOOOOODOOODOOODOODOOOOOOOODO
gboobuooboobooboobobo

b =16 fm

MEgpo | 0.13758 GeV
Mpya | 0.13757 GeV
Mpysz | 0.13764 GeV
Mpys | 0.13766 GeV

0 16: 000000000000 000 = 1.0MeV/chO

0000000000000 0000o0o0o00000oooooon 1.0MeV/ch
gogboboboogobboboooon

Mb=1% = 0.13761 £ 0.00004CGeV (29)

gboooooooboon
00000 1.1MeV/chO0ODO0O0O0OO0O0O00O0O0OOO0OO0OOOOODOOODO
gboobuooboobooboobobobo

b =16 fm

MEgpo | 0.15099 GeV
Mpy | 0.15111 GeV
Mpysz | 0.15128 GeV
Mpos | 0.15128 GeV

017 000000000000000 = 1.1MeV/chO

000000000000 000000000000000000 1.1MeV/ch
gboobuooboobooboob

Mb=1% = 0.15117 £ 0.00001GeV (30)

ggboooooooo
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00000 1.2MeV/ch0 0000000000000 OOOOOOOOOODO
gboobuooboobooboobobo

b =16 fm

MEgpo | 0.16526 GeV
Mpyz | 0.16533 GeV
Mpysz | 0.16539 GeV
Mpys | 0.16531 GeV

018 000000000000000 = 1.2MeV/ch0

0000000000000 000Doooo000oooooooon 1.2MeV/ch
gogboboboogobboboooon

M=% = 0.16532 £ 0.00004GeV (31)

gogboooooooo
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5.3.3 U00OO0OO0OO0O0OO0DbOOObOODbbOObOOn

gogoboooboboboboougobuoooooooobbboobbbooagd
gbogboobbobogbogbuodgbboobobobbobbobbobbo
goggoobbobobobboubobbboddooooooobboobboood
ggbbobuoogbobboooobbboooobbodao

‘ pi0 invariant mass and Calibration contant (Impact parameter = 16 fm)
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Calibration constant

0120 0000000000 0DOO0ObDOOOO0OO0DODg =16 fim0d

gboooboobbobobuoobuoobbooboobbooboobobo
googoooodg

M=% =0.1399 x C' — 0.0025 (32)
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[6) CERN - European  Organization for Nuclear Research O O
http://public.web.cern.ch /public/

[7] ALICE - A Large Ion Collider Experiment O O http://aliceinfo.cern.ch/Public/
[8] Particle Data Group O O REVIEW OF PARTICLE PHYSICS

[9] Particle Data Group O O http://pdg.lbl.gov/
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